Monthly Key Indicatorsfor the month of November, 2015

GOVERNMENT OF MIZORAM
Accounts at a Glance (at the end of November, 2015)
(UNAUDITED PROVISIONAL FIGURES)

(R incrore)

Budget Estimates

Actualsup to

% of Actualsto Budget Estimates

2015-2016 November, 2015
Current year Corresponding
period of previous
year
1. Revenue Receipts 7175.44 2443.50 34.05 47.91
(?) TaxRevenue 2740.27 922.22 33.65 59.56
(i) Stamps and Registration Fees 0.12 2.55 2125.00 3528.57
(if) L;arl‘d Revene 11.90 2.00 16.81 58.08
(i) SdesTax 232.66 168.19 72.29 69.75
(1v) Stete Excise Duties 35.68 34.26 96.02 61.38
(v) Other taxes and duties (Further ) ) ' )
breakup to be given if available) 245991 715.22 29.08 57.27
(c) Grantsin aid and Contributions 4182.36 1364.56 32.63 4441
2. Capital Receipts 149.63 821.21 548.83 43.86
(a)Recovery of Loans
and Advances 40.00 19.03 47.58 59.85
(b) Other Receipts
() Borrowings and Other 109.63 802.18 73172 42.77
Liabilities ) ' ' '
3. Total Receipts (1+2) 7325.07 3264.71 44.57 47.52
4. Non Plan Expenditure (a+d) 4052.41 2350.40 58.00 67.41
(a) Non Plan Expenditure on
Revenue Account 3910.38 2376.81 60.78 64.69
(b)Non Plan Expenditure on
Interest Payment (Revenue) 450.01 212.81 47.29 63.69
(c) Non Plan Expenditure on
Salaries/wages (Revenue +capital) 2040.78 1357.07 66.50 60.53
(d) Non Plan Expenditure on
Capital Account (excluding loans & 142.03 (-) 26.41 (-) 1859 4964.86
advances)
5. Plan Expenditgre (a+c) 3232.66 910.99 28.18 26.72
(a)Plan Expenditure on 2180.90 858.71 39.37 29.38
Revenue Account
(b) Plan Expenditure on
Sclariesiwages (Revenue + capital) 401.33 293.78 73.20 84.47
(c)Plan Expenditure on
Capital Account (excluding loans 1051.76 52.28 4.97 17.68
& advances)
6. Total Expenditure.(4+5) 7285.07 3261.39 44.77 47.70
(a)(Rev_enue Expen_d|ture) {4(a+5(a)} 6091.28 3235.52 53.12 49.83
(b) Capital Expenditure) { 4(d)+5(c)} 1193.79 25.87 2.17 30.49
7. Loan and Advances disbursed 40.00 3.32 8.30 5.24
8. Revenue Surplus(+)/ 1084.16 (-) 792.02 (-) 73.05 (-) 48.31
Deficit(-) {1-6(a)}
9. Fiscal Surplug/Deficit (-)109.63 (-) 802.18 731.72 42.77
[{1+2(a)+2(b)-6-7}]




